2
SOURCE ) LOAD ) ey JEA
J
Surge gy 55 :
Arrester =3 — 3 — 1
o i
Countersink 1
Autotransformer 1 b all lag screws | I
cutout ’ AL )__J;‘
Neutral - &5 ———————————==Hr—"— +&3)-——
= =

-IIIIE
affH

WIRING DIAGRAM SOURCE
———

;\i o-d-ek _=_—_-i. A 'j==j,
| %:t_: \‘\ o
! |§ @ : g i
T
.

L= b ~—___ See Notes

13'- 0" min. k| 1and 3 !
to grade 4_
| Len en |
Notes: ! >-6 36 !

1. All structural timbers and planks to be treated per RUS specifications.

2. Each transformer must b bolted to platform or pole.

3. 4 x 6.25#/ft channel steel or 6 x 2.91#/ft aluminum channel may be substituted for

structural timbers.
ITEM | QTY MATERIAL ITEM | QTY MATERIAL
c 12 Bolt, machine, 1/2" x req'd length ae 3 Arrestor, surge, 9 kV
c 6 Bolt, machine, 5/8" x req'd length av Jumpers, insulated, as req'd
c 6 Bolt, machine, 3/4" x req'd length bu 3 Connector, grounding
d 12 Washer, round, 1 3/8" diam. ek 26 Locknuts
d 24 | Washer, square, 2 1/4" an 3 | Autotransformer, 24.9/14.4 - 12.47/7.2 kV
j Screw, lag, 1/2" x 5", as req'd ax 3 Cutout/Arrestor, combination, load break, 24.9/14.4 kV
j 8 Screw, lag, 5/8" x 6" 1 Platform, transformer
k 3 Insulator, Epoxilator p3 4 Raptor guard, 18"
1 6 Clamp deadend p Arrestor, bushing and cutout covers
o 2 Bolt, eye, 5/8" x req'd length
p Connectors, compression, as req'd
Notes:

AUTOTRANSFORMER, PLATFORM MOUNTED
(THREE SINGLE-PHASE)

RUS
POWDER
04/10/08 SIVER, ENERG YV
oo CORPORATION VY23
cV.




